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NOTE: - Write same question number ..q.-fmu-’-;.{,éir_lfﬂué E-,'JJ/:):ZJ:-I/:UVLFJ.;QB’QI.& Y
and its part number in answer book, as given in the question paper.
SECTION-l sl
2. Attempt any eight parts. 16=2x8 -é;f,:.-gi_ﬂ‘d:lzﬁfg.df _2/1U|r
() Whatis meant by Personal Income? ?;.:yg’;.dﬁf (i)
(i) Define Depreciation Allowance. NS AT ()
(i) What is Disposable Personal Income? wJﬁkfdJ.Tu‘;_:ﬁ;}'ﬁ (iii)
(iv) Define Inconvertible Paper Money. AR da g ()
(v) What is meant by Bearer Cheque? e ()
(vi) Whatis Token Money? ‘e taliiSl  (vi)
(vii) What is Modaraba? S WA (vii)
(viii) Define Monetary Policy. Y 3 wif /-E,;JJ! L (vili)
(ix) Whatis Open Market Operation? T '-‘-rf,,L»U“f E’J'}Lg (ix)
() Whatis meant by Private Finance? e e (¥)

(xi) Write four important heads of Public Ex;
(xii) What are Regressive Taxes?
3. Attempt any eight paris.

(i)  Write any two advan

(i)  What is the purpose o i

(i) Write any two advantages S0nternational Trade. S ﬁ-’i;’nr_.dﬁ_'. e
(iv) Which are two major sectors of Pakistan's Economy? e u:ﬁ_’:’"-..zud:.;-‘-‘f"Juwl
(v) Which Crops are included in Kharif? ?L,_rrGﬁJL?-u.‘.“"duJLC 7
(vi) What is meant by Small and Medium Enterprises? ?-‘:.J[;*E._-(L.UJWJ.?__;JLLFJUH-E-!%’

(vii) In how many ways the statistics of

National Income in Pakistan are presented?

(viii) Write any two difficulties of Pakistan's National ..L,g_’z@f.:.-tif-ud J:'Lfﬁ;:utfls J ;L?U ;"Jub'f&

Income measurement,

(ix) Define Per Capita Income. e ANV
(x) Whatis meant by Increase in Real National Output? fSeslpe & LIt }'3:‘7
(xi) Write any two problems of Developing Economy. +L£/';,;JL"J=-JI£#{%5;
(xii) Define Economic Planning. - f-&‘/‘U Yz Lf& b

( «';1! ;:FA)

W E—-'-F‘-.J.: J-;-"— C/)L?:Fﬂlﬁf-:':dﬁrd 4 LJL:'J:L,

U ferafeSBASK, (i)
AT
16=2x8 ezl 8 34w
S fe sine L ok

Zblishment of World Trade Organization? e U ¥-GLumdsdl

0]
(i)
(i)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)
(x)
(xi)

(xii)
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Q.No.4 Attempt any nine parts. 18=2x9 Efe 2l a4y
(i) What is meant by Dry dock? ?q-Jb*l;"a-Lfﬁfﬁ (i)
(i) Write four steps to improve Pakistan Railway. -.;,.’G;Lljlgké. L.L[:-,ﬁ‘:il.bul:fE (ii)
(i) What is Zari Taraqati Bank Limited? S VAL A0HEs (i)
(iv) Whatis meant by E-Commerce. Sl e st (iv)
(v) What does Demand pull inflation mean? S bl Dbl AN (5 Ef)il,:ﬁ.,ib (v)
(vi) Write down four sources of Revenue of __ddc’:u&;?é&ﬁ;fyﬁél,m!gﬂg (vi)
Pakistan's Provincial Government.
(vi) Write down four heads of expenditures of ..u.t’ﬁ..ufiugd:,l.;ijicﬁyﬁdﬁuj;h (vii)
our Federal Government.
(viii) What is Gift Tax? fe mw?:,u’ (viii)
() Write the names of four member countries of ECO. =t f L2 L SNEEE (Sl (ix)
(x) Write four functions of World Trade Organization(WTC = .:"‘J. ) b N \WTO) D1 A2 (%)
(xi) What is meant by Interest (AL-Riba) in <A w‘%rwitfww (i)
Islamic Economic System?
(xii) Write four traits of Islamic Economic System e (G (xil)
(xiii) What is the basic Philosophy of life of Islamic Bggnomi§®ystem? T Vel :aﬁb’.:i.?’:rl&id et (xiii)

S EGERN-I (934
NOTE: - Attempt any three quez s, =10x3 -é{f:&ﬂﬁ:——ﬂk@f&&f adis
5.  What is meant by Barter Systerm® ,E{_zfalf.‘:-d’rlﬁ?i_h@wwu ?.:_-_,.I/'[_,_f;__f",’},l_. -5

s

Describe the difficuli@® of dif@ct Barter system.

6. How Commercial Banks c'8®te Credit Money? Frealn LT )Jﬁ&;d;ﬁl.ﬁ;&ﬁf -6

Explain.
7. Describe Canons of Taxation given by Adam Smith. --’Q.E;LJ:‘1£.L.)3’I;J€L£LE£ #pT 7
8. Describe the importance of means of Communication -.f£ ugcﬂilJvaﬁ;}n;Esraﬁﬂf{fbj -8

and Means of transportation.

9.  Explain the causes of disequilibrium in Sk 2SI UL L -9

Balance of Payment of Pakistan.
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Note: You have four choices for pach objective
The choice which you think is correct, il that ci
to fill the circles, Cutting or filling two or more
many questions as given in objective type g
in case BUBBLES are not filled. Do not so
Q.No.1

type question as A, B, CandD.

rcle in frant of that question number. Use marker or pen

circles will result in Zero mark in that question. Attempt as

uestion paper ang leave others blank. No credit wii| be awarded

Ve question on this sheet of OBJECTIVE PAPER. .
L : -1 A

National income is in equilibrium al level where -.j_d:ffdir:’uf\jﬂd J (1

(A} Total expenditure = Investment Uil = 35K ng =f =34k ,
‘@MQregale demand = Aggregate supply w8 = _b 1,4 penditure 3.7.F = Jafd?
(2) Formula of Marginal Propensity to Save (MPS) is-.

SO0 |
=l A iy

(B) Total expenditure = Savi
ational income = Total £«

Fue T ()
(A) APS = i; (B) MPS = i: (C) Mps - :_3 -
{3) According to Quantity Theory of Money, if quantity of money ,.::._L.;lgu; i blo Ll N iaglaie, B {3
18 doubled the valye of money is- (A) Increased ¥k (B) Decreased * o) g i
(4) Speculative demand for money is a function of. S @
{A) Income f;}ﬁ (B) Price ¥=7 Inferest rate &, ; ¥stment Ef_j,-e‘:.l,f-
(5) ___ creates credif money (A) Central bank £ ¢+ e ()
Commercial bank & 7 (C) Saving banj ank &
(6) The base of Interest Free Banking system is.. S I T (6)
(A) Profit 2 (B) Loss w3 (CYProfit 2

(O} Interest :» ”
&L H:i.{'_:;..‘.»-.,,’.r*'i:;,-';hv"' (7}
(D) Keynes

(7) First of all Canons of Taxation were presented by:-
ADAdam Smith [ 27 (B) Alfred Marsha
8) _ budget is better
(A)Surplus =4 (B) Deficit ¢
The policy to protect Home indusiric fram
Foreign competition 15 called.-

~& Ay (8) -

od i . (D) Defence (f§s

(9)

(9)

‘ Cog “WA5 (B) Fiscal policy u';;[}y-.

C) Protection policy (5=..2r D) Monetary policy (s -5;5,: ~ _

(10) The cause of low per canii incg is- 4 A Cver population (§4 71 ..;..;:Jé_x;‘ dalr dfl  (10)
(B) Geographical conditig 'Lack of mountaing d"

(11) Per capita income is equs

; Jusiy (D) Lack of water S
ational Income  Ja7ed ¥

~Uleda T A8 {11)
) By _ R = y
Total Consumption gidak

(B)Total National income (1. 74/,

s [0tal National Income J;E;’F,F (p) Total National income N ]
Total Population ST Total Manpower Az K Total youth l‘q country wigd K2 g
(12) Central exise duty s imposed on:- -.;I-_inhd;;ﬂ-&‘ JJ.E.:-;_:.;J::-"} (12)
(A) Agricultural products M idid @ndustriaf products .;Juf.:;g?“ (C) Imponts g=laly (D) Expurts_é.:.h.i-;
(13) ____is included in moderm means of transportation in Pakistan, ~SELUR b Wl JL"_’,:L-,-:-'; (13}
Motorway ., (B) Boating .Ju.-,,# (C) Pakistan raitway g,.:'z.-_-;i-'r"; (D} Roads .,f:'f_.:'--
(14) Television was started in Pakistan in- -J:rfi*;j:;l‘{.«i'._,f;-bé {14)
(A) 2 1960 (B) £ 1962 @© o 1984 (D) & .1966
(15) Head Office of Agricultural Deveiopment Bank of Pakistan js in:- - ;—E-wb’-éj&_jﬂ.a;y:ﬂ (15)
(A)Islamabad {7y (B) Lahore (Z,uy (C) Peshawar Lt (O) Karachi 21/
(16) The main source of Pakistan's government revenue is:- ; -~ il f'r'uf..;i;..’ig,,.ﬁ (16)
(A) Aid st (B) Fines &, ©raxes * (D) Fee =
{(17) In Pakistan, Federal budget is presented in the National Assembly by:- -Lb{,-f‘i;jﬁg’ﬁ.:ﬁﬂd:,:gnl {17
(A) President .- (B) Prime Minister ;“1(51 inance Minister ‘ '
(18) Pakistan devalued its currency by 131 % in.-.

<725 (D) Trade Minis:e;- Sl i

S 1319 BRI e (18)
(A) & .1988 (B) 2 1870 @ L 41972 (D) .2 .1974 !
- is the friend of Allgh Almighty.

(A)Labourer mp

20) Islam does not permit:-

19)

- bl v g 9)
(B) Capitalist ¥l ST

(C) Entrepreneyr ababile (D) Trade 2t

A Monopaly J.-jﬂ:m,-' (B) Perfact competition

i Bl ibienr (a0
e (C) Charity =1

(D) Sadagat (.- 5.~
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Hntn You have four choices for each objective type question as A, B, C and D. -n._,‘-_.-“-rg,r/l;ﬁ'l"f{.g},c“f

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 4 A Adr
{1) The base of Interest Free Banking system is:- ..LJVL}J t’:- b Lk (1)
(A) Profit (‘,"' (B) Loss gl @mﬁt and loss uhﬂu (D) Interest s+
(2) First of all Canons of Taxation were presented by:- . = J:' éi-_ eIl '*JJ (2)
AAdam Smith LT (B) Alfred Marshal _743# (C) Ricardo 5§ (D) Keynes /
(3) ___ budget is better. ety 0 (3)
(#)surplus % (B) Deficit k.3 (C)Balanced wii# (D) Defence b
(4) The policy to protect Home industries from <0 el Live s )
Foreign competition is called:- {A) Commercial policy J‘J L,,!ub' {B‘J iscal policy A

@p rotection policy Jélu s (D) Monetary policy =\

(5) The cause of low per capita income in Pakistan is:- @ Over population i1

(B) Geographical conditions = Uk  (C) Lack of mountains

(6) Per capita income is equal to:- (A) Total National Income _-4_ i & --_-L.fswdjl'f 3 (B)

_ Total Consumption &/}

@ Total National Income 1}47;551; © Total Nationa! Income @udpy 7.*

Total Population i) Total Manpower = tal

(7) Central exise duty is imposed on:- h..d.m. lfJ;::/ Lr'd/fu-uvri (7)

(A) Agricultural products {:bLsLL} Olndunr 3| produc < s s =lis (D) Exports _.;....u!.c

(8) ____isincluded in modern means of transportationgp Pakis -_vaﬂuﬁ)).wlfﬁ,ﬂdbfi (8)
@)Motorway «si»  (B)Boating L. alway «#$usel (D)Roads 7

(9) Television was started in Pakistar in - -Jﬂ'x'ddﬂdfucwf L (9)

el (5)

(A) L& #1960 (B) = +1982 (D) .~ +1866

(10) Head Office of Agricultural Developy ban is in: - Pk BBl (10)
@Islamabad Wit Tl (B) Lah C) Peshawar (2uly (D) Karachi (21

{11) The main source of Paki pve P -f_.f.:}l:ci’f}._"r'JuP'i.y:‘ {11)
(A) Aid sla! nes C)Taxes ~ (D) Fee <

(12) In Pakistan, Federd 2 in the National Assembly by:- -;_rfmu.'d"' u:’..-fdu:u‘.'ut-ﬂ {12)
(A) President .+ YQUWPrime Minister Im OFlnanoe Minister =i+ (D) Trade Minister =\

(13) Pakistan devalued its curr oWy by 131 % in:- S 131% ALt (19)
(A) 2 +1968 (Y £ 41970 @._;: 41972 (D) L2 +1974

(14) ____is the friend of Allah Almighty. - brneKiUd  (14)
@Labnurer g (B) Capitalist /5.4 (C) Entrepreneur .s.6:3 (D) Trade 2t

(15) Islamd-uesnut permit:- -EJQC:...-JF-'["JJFF (15)
Mﬂmpoll_.r Sl (B) Perfect competition (&  (C) Charity J=1@ (D) Sadagat (=64

(16) National income is in equilibrium at level where:- .{.Jﬂf MJG.NJ;" (18)

(A) Total expenditure = Investment (f/6.\, = 8iF (B) Total expenditure = Saving =% = I
C)Aggregate demand = Aggregate supply s = ¥+ (D) National income = Total Expenditure &) = J.147

(17 Formula of Marginal Propensity to Save (MPS) is:- - Uribbeiyl &
9 AC s AS
A) MPS = — MPS = — MPS = = MES = —
(A) = (8) 4 7 (©) MPS =2 @ Mps 5

(18) According to Quantity Theory of Money, if quantity of money -.-;_alfm};{u'iz_gr_uf Miﬁi;iﬁfi.:_ﬁ&};bﬁfﬁ (18}
is doubled the value of money is.- (A) Increased wLJ (B) Decreased r!‘ (C) Equal .. @Half i

(19) Speculative demand for money is a function of - -~ JL«.,.J*(}:? és (19)
(A) Income ¥sT (B) Price ¥=d @Intarest rate ¥/ (D) investment ¥4,

(20) creates credit money,. (A) Central bank . -t/ (20)
Ommmamal bank .C-d;Lr (C) Saving bank .x},:.;i (D) Cooperative bank ...E- isbr

38(0bj)( 17 1< )-2017(A)-12000 (MULTAN)
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Note: You have four choices for each objective type gquestion as A, B,CandD. " _L;z:'.,-_f,‘&.:._.ﬂ!rg.;.;,:"r

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or mora circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER. :
Q.No.1 4 A Ay

(1) Per capita income is equal to:- (A) Total National Income '._«" i --:..d:t.-—-JJL/ J (1)
Total Consumption &fdﬂﬁ _
(g)otal National Income QTSRS (c) Total National Income {,}.‘Tﬁ%; (D) Total National Income daTgif
Total Population 4,547;} Total Manpower — =f=a? Total youth in country dr:rfuf,;:_i
(2) Central exise duty is imposed on:- -.-;.dm’ud{j:r’ Lﬂd:—fxﬁ;ﬂ:‘-@ (2)
(A) Agricultural products L Si @Induslr'ral products .;.zhl._«;;_?w (C) Imports ,=Lls (D) Exports _{.:..uic
(3) ____isincluded in modern means of transportation in Pakistan. SOyl L SR (3)

(@Motorway <»»  (B)Boating (L5~ (C) Pakistan railway . -
(4) Television was started in Pakistan in:-
(A) £ +1960 (B) & +1962 ©) = 1954
{5) Head Office of Agricultural Development Bank of Pakistan is in
A))Islamabad u:hi_.Trufr (B) Lahore 2.y (C) Peshawar 2.3
(6) The main source of Pakistan's government revenue is:-
(A) Aid sLal (B) Fines iz ©;
(7) In Pakistan, Federal budget is presented in the National As5&m
(A) President .+# (B) Prime Minister @r

)) Roads =4
L, ,.-;Ec,f:_u&.,cucf& (4)
- +1966
G *'=u~'gJL3Finur—@ (5)
D) Karachi ;,J.'u:rf
e lerf (6)
D) Fee ,-_,"-:’
" FAFGA St M)
i+ (D) Trade Minister w45
..L.(Hr 131 % /jl,j’d?&lz_ww‘l (8)

(8) Pakistan devalued its currency by 131 % in -

(A) 2 +1968 (B) £ +1970 r (D) & ,1974
(9) is the friend of Allah Almighty - broenibl  (9)
Labourer s (B) Capitalist . -Mrepreneur skl (D) Trade .2t

(10) Islam does not permit:- Lkl (10)
Mcmupulr Jdﬁ:.-,:- (B) Perf " (C) Charity J.:.,I,E {D) Sadagat J.:,L.-

(11} National income is in equilibrium at -.Lg:l:ffg:’-ﬂ}d’;’u?d; (11)

(A) Total expenditugg NGl = 27 (B) Total expenditure = Saving =% = 3/}
© Acuregst demanc <48
(12) Formula of Marginal .

upply +=0+ = &¥ (D) National income = Total Expenditure &3 = J.747

IMPS) is:- bt (12)
C AC i AS
() MPS == = (©) MPS = = MPS = =
(13) According to Quantity Theory of Morney, if quantity of maney -.LJlg-u.:-"i.‘:d?i-igl_-:fi'r'?i:fﬁﬁfﬁc-ﬁ L E (13)
is doubled the value of money isi- (A) Increased wi (B) Decreased rr (C) Equal .l Half _is
(14) Speculative demand for money is a function of - - ..J“Lv—o-'-“o‘{{u (14)
(A) Income ¥ .7 (B) Price ¥=d @Interesi rate ¥ - (D) Investment L.\,
(15) creates credit money. (A) Central bank ....L':g,'_f,.?:-“ _ﬁ,rfjﬁ",ﬁ;d..?r (15)
B) Commercial bank & (.7 (C) Saving bank G5 (D) Cooperative bank &}y
(16) The base of Interest Free Banking system is-- ) -eiddrErr (1 6)
(A) Profit (B) Loss i @Pmﬁt and loss i (D) Interest 5
(17)_First of all Canons of Taxation were presented by:- -ﬁi..f}..{; c..,-'dr-'rf.é./i'lru‘g (17)
Adam Smith & 2T (8) Alfred Marshal & 434 (C) Ricardo »5/6, (D) Keynes 5~
(18) ____ budgetis better. oA (18)
(® surplus F (B) Deficit ¥.3 (C) Balanced (i (D) Defence ($6;
(19) The policy to protect Home industries from -0 e Oelnstiad Liwe defiimf g
Foreign competition is called:- (A) Commercial policy dﬂ.dﬂf (B) Fiscal palicy -l;f!yt
©) Protection policy ¥y Szt (D) Monetary policy (%45, =

(20) The cause of low per capita income in j‘-’akistan is:- @Dver population ($»Tpt *.;_;.-:L(fo‘fi,.b” ',_,d;;acfl', (20)
(B) Geographical conditions = b2 (C) Lack of mountains ((Usly (D) Lack of water Sl

38(Obj)( I 37 )-2017(A)-12000 (MULTAN)
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_ Note: You have four choices for each objective type question as A, B, C and D. - ¥ Al e dr
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many questions as given in objective type question paper and leave others blank. No credit will be awarded
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Q.No.1 .,z A Ay

(1) The main source of Pakistan's government revenue is:- 4 -?—..f}jjkf&._ljd’w;r E,:.fﬁ (1)
(A) Aid sl {B) Fines &_\.7 @Taxes ,-"*E (D) Fee <

(2) In Pakistan, Federal budget is presented in the National Assembly by:- R rJ:,?*ufJ’ Jres JE;J;,JI:J’L (2)
{A) President .. (B) Prime Minister (51;;: @Finam& Minister =17,y (D) Trade Minister =g

(3} Pakistan devalued its currency by 131 % in:- H’ 131 % ;»JJ/Q.‘_.._JGQ' (3)
(A) & +1968 (B) £ 1970 @ L1972 D) & +1974

(4) _____is the friend of Allah Almighty. & Ertanb i (4)
A) Labourer ssp» (B) Capitalist J&-4 - (C) Entrepreneur .s.¥.0% D@ rade 2t

(5) Islam does not permit- -r;,-vczi.-.;nyrfw (5)
@Munnpnly Jd.armigi (B) Perfect competition u(é;.,:i»;}; (C) Charity _
(6) National income is in equilibrium at level where:- OIS (6)
(A) Total expenditure = Investment d;b’:.l.f & y,_;’j (B) Total expa

(© Aggregate demand = Aggregate supply 4y = 4 (D) National incomé

(7) Formula of Margina! Propensity to Save (MPS) is:- =
&) mps =S @ Mps=2¢ o T b) mps = &
) AY & AY

LYY, _._.n:/rm;.aﬁm’/::.-uu(wiﬂ.-,ﬁ (8)
(C) Equal . @ Half —id
eI 9
N rate (D) Investment Lt

L, < X (10)
ank rcd (D) Cooperative bank & s
-,-..-.,;u._{dar..;m'u;& (1)

(8) According to Quantity Theory of Money, if quantity of mo
~is doubled the value of money is:- (A) Increased
(9) Speculative demand for money is a function of -
(A) Income st (B) Price ¥=’
creates credit money. (A) Ce
(® Commercial bank i |i°

(11) The base of Interest Free Banking s

(10)

(A) Profit 3 @Pmﬁt and loss .,-JLI-’:CE; (D) Interest s+
{12) First of all Cancns of T; ; fim -é.,r‘ﬁ.-_..,.fd.r‘iﬁ‘:.:ﬁ hug (12)
(A Adam Smitn Marshal LJUSH (C)Ricardo s58, (D) Keynes
(13) ____ budget is better. - bt il (13)
@ Surplus % \ il (C) Balanced .17 (D) Defence (i
(14) The policy to protect Hc—me industries from -:..ddr" q_dbd';wu" u.{_ia_.hs;..lbﬁfffuf‘da’ (14)
Foreign competition is called:- (A} Commercial policy JJ LJA.f (B) Fiscal policy -LuJL

@Pmtecuun policy o‘-‘-’gﬂ;ﬁr (D) Monetary policy L.
(15) The cause of low per capita income in Pakistan is:- @Gver population J:LI}F,’J ;.g,w_rrdnf;};_;:gi:ﬂ. (15)
(B) Geographical conditions =0k  (C) Lack of mountains JULsl (D) Lack of water JJd
(16) Per capita income is equal to:- (A) Total National Income E ;jjz --—D""“L;-* IJ’ ¢ (18)
Total Consumption u«fd}‘f

() Total National income ST ¢ Total National Income Jugif (D) Total National income i WAF

- Tolal Population Gl Tol:a! Manpower ..:!L.JUV Total youth in | country ulf.-U(,C..Ji
(17) Central exise duty is imposed on:- -::..dn. l.sd.guLffd/}uduu—ﬁ. (17}
(A) Agricultural products .f.il,lf.ﬁd.u @ Industrial products nl;l{f,o”' (C) Imports ;= Ls T (D) Exports el T
(18) _____isincluded in modern means of transportation in Pakistan. -.;.Jb-nﬁuﬂ)z,#ﬁﬁfuturf L (18)
@Mntorway <  (B)Boating ;j!.rd'{ (C) Pakistan railway ;éaucﬁ (D) Roads L/.f/
(19) Television was started in Pakistan in:- -dxlyJJu;JLfJur:fL (19)
(A) & +1960 (B) £ »1962 O WL 41964 (D) & +1966
(20) Head Office of Agricultural Development Bank of Pakistan is in:- I T SAL [
A)lsilamabad S\l (B) Lahore ey (C) Peshawar (£al (D) Karachi £/
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